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Tm
1/3 1/2
0.3T, 0.7T,
Recrystallization Melting
Temperature Temperature
Metal 4 & o o 6 2
Lead —4 25 327 620
Tin —4 25 232 450
Zinc 10 50 42() ?HRX
Aluminum (99.999 wt%) S0 176 6o0) 1220
Copper (99.999 wt%) 120 250 1085 1985
Brass (60 Cu-40 Zn) 475 887 900 1652
Nickel (99.99 wt%) 370 700 1455 2651
[ron 450 540 1538 2800

Tungsten 1200 2200 3410 6170
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TC
50 nm 10 nm
1 20 GPa,
b 0.25nm

Example Problem

A metallic single crystal is strengthened by
dispersed secondary particles. Estimate the
critical resolved stress, .. The average particle
distance (from center to center) and the particle
diameter are 50nm and 10nm, respectively. Use
1 = 20 GPa and b = 0.25nm.
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